Name: Class: o
4( Add intergers )7
Add 6 +4 =10
Add (-5) + (-2) = -7
to calculate the sum of a positive and negative number
use the sign of the larger number in your answer
then subtract the expression
Add (-9) + 4 = Add 5 + (-11) =
Add 7 + (-2) = Add (-2) + 8 =
Find for each expression below
50+ (-27) 5 -H+5=
(-102)+ (-39) = (+12) + 6|=
(-10) + (-5) = 5+8=
7+ 79 = 38+ (-59) -
For each expression below, find the sum and choose the correct answer from the li
(-47) + 30 =
0O +77 +17 -17 - 77
(-780) + 889 =
(] 109 O -109 ] 1,669 0 -1.669
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— Add intergers 7

. P
Add 6 + 4 =[10
Add -5+-2=-7

to calculate the sum of a positive and negative number

use the sign of the larger number in your answer

then subtract the expression
(-9+4=4-9 7H(C-D=7L2 S+¢-1D=5-1 (-2) +8 8- 2
9 >4 so, the answer 7 >2 so, the ahswer 11 >/5 so, the answer 8 >|2 s0, the answer
is alnegative number. is a positive number. is a negative number. is a/positive number.
PR T 7-12=+17 el e 8 -2 = +6
Find for each expression below
50|+ (-27) = +[23 -D+5= +4
(-102) + (-39) = - 141 (+12) + 6/= 1
-10) + (-5 = -15 5+H8= +13
7H79=| 86 38+ (-59) = - 21
For each expression below, find the sum and choose the correct answer from the li
(-47) + 30 =
a +7 a 1y ™ -17 a -
(-780) + 889 =

/ 109 [ -109 Oieeo | O -1669
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